Exercices — Masses et contenances — 6emes

Exercice témoin 1 :

Convertir les masses suivantes :

5200¢g-= kg 64g-= cg |58,2dag= hg
7 235 mg = g |87t= kg |5 235 hg = q
63 kg = t |325¢g-= kg |12 dg= g
372 kg = t |5420mg= g |(125q= t
325¢g-= kg |46 kg-= g |032+%t= kg
t q mag kg hg dag dg cg mg

Exercice témoin 2 :

Convertir les contenances suivantes :
850 L = hL [74L= cL [362L= hL
7438 mL = dL |364dL= L |4525mL= L
4030clL = L [325hL= L [3,27 dalL = cL
712 cL = L |53cL= mL |04 hL = L
2450 = hL |380mL = L [52L= cL
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